Standard Phys5b/5¢ Name:

Period:
OHM'’S LAW PRACTICE PROBLEMS

1. 3 Vis applied across a 6 £2resistor. What is the current?

2. A 1.2 kL2 resistor passes a current of 0.2 A. What is the voltage across it?

3. What is the resistance offered by the lamp?
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4. What is the voltage provided by the battery?
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5. What is the voltage of a circuit with a resistance of 250 ohms and a current of 0.95 amps?



Standard PhysSh/5c Name:

Period:

6. Explain, step by step, how to calculate the amount of current (1) that will go through the
resistor in this circuit:

wire
Battery: Resistor:
12 volts 470 Q

&

wire

7. Plot these figures on the following graph:
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8. Explain the relationship between current and voltage:



